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Choose the correct option (1X15=15)

. LetRbe arelation on the set N givenbyR = {(a,b):a =b—2,b > 6}. Then -

a) 2,4)€R , b) (3,8 €R , ¢ (68€R , d (87)€ER

. Which of the following is not an equivalence relation on Z ?

a) aRb < a+ bisaneveninteger.
b) aRb < a—bisaneveninteger.
¢c) aRb < a<b
d) aRb < a=»b

. RisarelationonsetZ, givenby (x,y) € R < |x —y| < 1.Then,Ris -

a) Reflexive and transitive
b) Reflexive and symmetric
c) Transitive and symmetric
d) An equivalence relation.

. The relation R defined onaset A={1,2,3,4,5} by R={(a b) : |a? — b?| < 16}, is given
by -

a) {(1,1),(2,1),(31),(41),(2,3)}
b) {(2,2),(3,2),(4.2), (2/4)}

) {(3,3),(4,3),(54),(3,4)}

d) None of these.




. LetRbe arelation over the set of all straight lines in a plane suchthat [ R, 1, L 1, ,
(where, l; and l, are any two straight lines ) thenRis -

a) Symmetric
b) Reflexive

c) Transitive
d) Equivalence.

. IfA={a,b,c},thentherelation R={(b,c)}ondis-
a) Reflexive
b) Symmetric

c¢) Transitive
d) Reflexive & Transitive .

. LetA={1,2,3}. Then, the number of relations containing (1,2) and (1,3) which are
reflexive and symmetric but not transitive is -

, d) 4

. TherelationRin N XN suchthat(a,b)R (c,d) @ a+d=>b+cis-

a) Reflexive but not symmetric

b) Reflexive and transitive but not symmetric
¢) Anequivalence relation

d) None of these.

. IfA={1,2,3} & B={1,4,6,9} and Ris arelation from A to B defined by
"x is greater thany; where xisin Aand y isin B". The range of R is -

a) {1,4,6,9} ; b) {4,6,9} ; ) {1} ; d) None of these.

10.If A={2,3,4,5} & B={3,6,7,10} and Ris arelation from A to B defined by
"x is relatively primetoy; wherexisin Aand y isin B".The domain of R is -

a) {2,3,5} ; b) 3,5} ; ¢ {2,3,4} ; d) {2,3,4,5}

11.Arelation ¥ from C to R is defined by x Ry < |x| = y. Which one is correct ?

a) (2+3D%13 ; b) Q)P (-3) ; o A+D¥PE@) ; d (H¥1




12.Let Rbe arelation on N defined by x + 2y = 8. The domain of R is -

a) {2,4,8} ; b) {2,4,6,8} ; o) {2,4,6} ; d) {1,2,3,4)

13. R isarelation from {11,12,13}to {8,10, 12} definedbyx Ry © y=x—3.ThenR 1is

a) {(8,11),(10,13)}

b) {(11,8), (13,10)}

c) {(10,13), (8,11),(8,10)}
d) None of these.

14.LetR={(a,a), (b, b),(c,c), (a,b)} bearelationonasetA={a,b,c}. Then, Ris-

a) Transitive ; b) Reflexive ; ¢) Symmetric ; d) None of these.

15.LetR={(a,b), (b, c), (a,c)} bearelationonasetA={a,b,c}. Then, Ris-

a) Neither reflexive nor transitive
b) Neither symmetric nor transitive
c¢) Transitive

d) None of these.
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